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khfhzf;fy;tpj; jpizf;fsk; 
tlf;F khfhzk;  

,uz;lhk; jtizg; guPl;ir- 2019 
Kaw;rpahz;ikf; fy;tp- juk; 10  

         gFjp 1 tpilfs; 
 

1. 3 6. 2 11. 2 16. 4 21. 4 
2. 3 7. 3 12. 3 17. 1 22. 4 
3. 1 8. 4 13. 1 18. 3 23. 1 
4. 4 9. 2 14. 2 19. 2 24. 2 
5. 4 10. 1 15. 3 20. 1 25. 3 

(25ù2=50 Gs;spfs;)    

gFjp 11 
tpdh ,y 01 
 
1) (m) nefpOk; jd;ik   (01 Gs;sp) 

(M) mu;g;gzpg;G   (01 Gs;sp) 
2) 1. gy;ypdj;jd;ikia cUthf;fpf; nfhs;sy; 
 2. Njhy;tpfis rfpj;Jf; nfhs;sy; 
 3. Mu;tj;ij Cf;Ftpj;jy; 
 4. gpur;rpidfis rthyhf fhZjy; 
 5. Mf;fj;jpwid kjpj;jy; 

 6. Mf;fj;jpwdhd elj;ijiag; gpd;gw;Wjy; (2ù1=2 Gs;spfs;) 
3) el;l ,lu; cau;thapd; ,yhgKk; cau;tilAk;. el;l ,lu; Fiwthapd; ,yhgKk; FiwtilAk;. 

    (02 Gs;spfs;) 
4)           tzpfu;    Kaw;rpahsu; 

1. tzpfr; nraw;ghLfis ,aw;ifahfTk; #oy; khw;wq;fis ftdj;jpy; nfhd;L Mf;f  
ghuk;gupa KiwapYk; Nkw;nfhs;sy;   uPjpahfr; Gj;jhf;fq;fis mbg;gilahf nfhz;L 

nraw;gly; 
2. el;l ,liug; nghWg;Ngw;gjpy; ehl;lkpd;ik el;l ,lu;fis Vw;Wf; nfhs;thu;. 
3. Nghl;bia vjpu;nfhs;s tpUk;gkhl;lhu;  Nghl;bapid tpUg;gj;Jld; Njbr;nry;tu;. 
4. tsq;fspypUe;J cr;rgaid ngw tpUk;g tsq;fis cr;rstpy; gad;gLj;Jthu;. 

khl;lhu;.      
5. ,ay;ghf gpur;rpidia jPu;j;jy;  Mf;f uPjpahf jPu;j;jy; 
6. FWfpa fhy ,yf;Fld; nraw;gly;  ePz;l fhy J}u Nehf;Fld; nraw;gly; 
7. tzpfj;ij jw;NghjpUf;Fk; epiyapy;  ehSf;F ehs; tpupTgLj;jy; 

elhj;Jjy;           

            (2ù1=2 Gs;spfs;) 
5) 1. Njrpa tsq;fs; gad;gLj;jg;gly; 

2. gpuNjr mgptpUj;jp Vw;gLfpd;wik 
3. Gjpa nghUl;fs; Nritfs; re;ijapy; mwpKfg;gLj;jg;gly; 
4. njhopy;tha;g;Gfs; cUthFjy; 
5. ntspehl;L nrythzpia ciof;f Kbjy; 
6. ehl;bd; nkhj;j cw;gj;jp mjpfupj;jy; 
7. Vw;wj; jho;Tfs; Fiwtiljy; 

8. nghUshjhu mgptpUj;jpf;F gq;fspg;Gr; nra;jy;            (2ù1=2 Gs;spfs;) 
 

tpdh ,y 02  
 
1) 1. Ntiytha;g;G mjpfupj;jy; 

2. Njrpa cw;gj;jp mjpfupj;jy; 

3. cs;ehl;L mwpT kw;Wk; tsk; gad;gLj;jg;gly;           (2ù1=2 Gs;spfs;)
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2) 1. rpwpa njhif %yjdkhf ,lg;gl;bUj;jy; 

2. Copau;njhif Fiwthf ,Uj;jy; 
3. tzpfk; jdpnahUtUf;F cupikahftpUj;jy; 
4. tzpfr; nraw;ghLfs; rpwpa gpuNjrj;jpw;F khj;jpuk; tiuaWf;fg;gllbUj;jy; 

             (2ù1=2 Gs;spfs;) 
         

3) 1. rpwg;ghfj; jpl;lkply; 
2. Njitahd topfhl;ly;> MNyhridfs; ngwy; 
3. nfhLf;fy; thq;fy;fis mwpf;ifg;gLj;jy; 
4. ntspr;#oy; khw;wq;fis ,dq;fz;L nfhs;sYk;> khw;wq;fis Vw;gLj;jYk; 
5. mur epWtdq;fspd; cjtpfisg; ngwy; 

6. rpwe;j khdplj; njhlu;ig Ngzy;              (2ù1=2 Gs;spfs;)
       

4) njhopy;El;gj; jpwd;             (2 Gs;spfs;)
        

5) 1. tzpfk; el;lj;jpy; ,aq;Fk; re;ju;g;gq;fspd; NghJ kdk; jsuhJ tzpfj;jpd; 
Kd;Ndw;wj;jpw;fhf ghLgly; 
2. cupa Neuj;jpw;F Ntiyfspy; <Lgly; 

3. epahakhd Kiwapy; nraw;gly;                 (2ù1=2 Gs;spfs;)
     

 

tpdh ,y 03 
 
1) 1. Gjpa fz;Lgpbg;G 

2. ePbg;G 
3. gpd;gw;Wjy; 

4. $l;L          (4ù½= 2 Gs;spfs;)  

2) Gj;JUthf;fj;jpd; Muk;gk; Mf;fG+u;tkhd vz;znkhd;whFk;. Mf;fG+u;tkhd vz;znkhd;wpid 
gaDs;s xd;whf khw;WtJ Gj;JUthf;fj;jpd; %yk; ,lk;ngWfpd;wJ.      (02 Gs;spfs;) 

3) 1. nghUshjhur; nraw;ghLfspy; <Lgly; 
2. el;l,lUf;F Kfk; nfhLj;jy; 
3. nfhLf;fy; thq;fy;fspy; <Lgly; 
4. tsq;fisg; gad;gLj;jy; 
5. Nghl;bf;F Kfk; nfhLj;jy; 
6. njhlu;e;J epiyj;jpUj;jy; njhlu;gpy; rpe;jpj;jy; 

7. Ra Cf;Ftpg;G fhzg;gly;         (2ù1=2 Gs;spfs;) 
4) 1. kfhj;kh fhe;jp 

2. Nkup fpA+up mk;ikahu; 
3. fyhepjp nkh`k;kl; A+dp]; 

4. C.W.W fd;dq;fuh          (2ù1=2 Gs;spfs;)
 (NtW r%f Kaw;rpahsu; Fwpg;gpl;lhy; Gs;sp toq;fyhk;)     
     

5) ngUk;ghyhd ntw;wpfukhd Kaw;rpahsu;fspd; Muk;gk; rpw;wsT tzpfj;jpd; %yNk 
,lk;ngWfpd;wJ. Kaw;rpahz;ikapd; jpwd;fs; kl;Lkd;wp kiwe;J fplf;Fk; Mw;wy;fis gpuNahf 
uPjpahf gad;gLj;Jtjw;F re;ju;g;gkspg;gJ rpw;wsT tzpfkhFk;. gy;NtW Gj;jhf;fq;fs; rpw;wsT 
tzpfj;jpd; %yNk cUthfpAs;sd. Kaw;rpahsu; jkJ Mf;fG+u;tkhd rpe;jidfis guPl;rpj;Jg; 
ghu;g;gjw;F rpw;wsT tzpfk; cjTfpd;wJ.         (02 Gs;spfs;) 
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tpdh ,y 04 
 
1) tzpfj;jpd; gyk;> gytPdq;fis ,dq;fhzyhk; 

tzpfr; #oypy; fhzg;gLfpd;w re;ju;g;gq;fisAk;> rthy;fisAk; ,dq;fhzyhk;. 
#oy; khw;wq;fSf;Nfw;g cw;gj;jp kw;Wk; tpw;gid eltbf;iffis Nkw;nfhs;syhk;. 
#oy; khw;wq;fSf;Nfw;g jpl;lq;fis tFj;jYk;> cgha khu;f;fq;fis jPu;khdpj;jYk; 

        (2ù1=2 Gs;spfs;) 
            

2) cupikahsu;> Kfhikahsu;> Copau;> tsk;     (4×1/2=2 Gs;spfs;) 

3) Copau;fisg; ghuhl;Ljy;> gapw;rpaspj;jy;> Cf;fkspj;jy;                 (2ù1=2 Gs;spfs;) 

4) tl;btPjq;fs;> tpiykl;lq;fs;> rk;gs kl;lk;> me;epanryhtzp khw;wq;fs;  (2ù1=2 Gs;spfs;) 
5) cyfk; G+uhfTk; cs;s ehLfs; jkJ Njr vy;iyfisj; jhz;b xd;wpize;J nrayhw;Wk; 

nraw;ghL                (2 Gs;spfs;) 
 

tpdh ,y 05   
  
1) mz;kpa #oy;> murpay; kw;Wk; rl;lr; #oy;> nghUshjhur; #oy;> r%f kw;Wk; fyhrhu #oy;> 

njhopy;El;gr; #oy;> ,aw;ifr; #oy;> kf;fs; #oy;> G+Nfhsr; #oy;     (4× ½ =2 Gs;spfs;)
   

2) (1) murpay; rl;lr; #oy;  (01 Gs;sp) 
(2) nghUshjhur; #oy;  (01 Gs;sp) 

3) 1. kPd;fSf;F gy;NtW Neha;fs; Vw;gly; 
  2. gz neUf;fbfs; Vw;gly; 
  3. kPd;fis ,dg;ngUf;fk; nra;tjpy; cs;s ,lu;fs; 
  4. kPd;fis ghJfhg;gjpy; cs;s gpur;rpidfs;      

  5. Nghl;bahd re;ij epiyikfs;           (2× 1= 2 Gs;spfs;)
       
4) (m) gytPdk; 

(M) gyk; 
(,) gyk; 

(<) gytPdk;         (4×1/2=2 Gs;spfs;)
         

5) r%f fyhrhur; #oy;              (02 Gs;sp) 
 

tpdh ,y 06  
 
1) thbf;ifahsu;> toq;Feu;fs;> Nghl;bahsu;fs;> gjpyPl;Lg; nghUl;fis cw;gj;jp nra;J 

tpepNahfpg;Nghu;> vjpu;fhyj;jpy; tzpfj;Jiwapy; gpuNtrpf;f vjpu;ghu;j;Js;Nshu; 

(4×1/2=2 Gs;spfs;) 
2) 1. mr;RWj;jy; 

2. mr;RWj;jy; 
3. tha;g;G 

4. tha;g;G          (4×1/2=2 Gs;spfs;)
          

3) 1. Njitahd tsq;fis toq;Fjy; 
2. el;l ,lu;fisj; jhq;fpf; nfhs;sy; 

3. Kf;fpakhd jPu;khdq;fis vLj;jy;       (2×1=2 Gs;spfs;) 
4) 1. Kfhikahsupd; mwpT> Nju;r;rp rpwg;ghftpUj;jy; 

2. Mf;fG+u;tkhd rpe;jidfisf; nfhz;l Kfhikahsu;fs; fhzg;gly;        (2×1=2 Gs;spfs;)  
5) 1. ru;tNjr cld;gbf;iffs; 

2. ntspehl;L tpahghuk; 
3. mur nfhs;iffs; 

4. rl;ljpl;lq;fs;         (4×1/2=2 Gs;spfs;)
         


